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5 Laplace

5.1
F(t) Laplace (Laplace transform)
fs)=L{F@®)} = e L F(t) dt. (5.1)
0
, S
5.2
1. Fourier F(t) Fourier
F(w) = e W R() dit (5.2)
1 , Fourier
Laplace ,
Fourier ,
Laplace . Fourier Fourier
, Laplace Fourier
2. , Laplace , Fourier :
f(s)=L{F@)} = e S F(t) dt. (5.3)
, —00 o0
F(t)
F@) =0, (t<0) (5.4)
! Fourier (2.10)
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fle+iw) = L{F@®)}= e~ IR (1) dt
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= e “E(t)e t dt (5.5)
, flo +iw)  F(t)e?t  Fourier
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F@t)e 7' = — et fo + iw) dw
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F(t) = o e £ (o + jw) dw (5.6)
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5.3. Laplace

5.1: Laplace
) L{F@®)
o(t) 1
a a/s, Re[s] > 0

e 1/(s — a), Re[s] > a
sinat a/(s? + a?), Re[s] > 0
cos at s/(s% + a?), Re[s] > 0

", n=123,...| nl/(s"*), Re[s] > 0

70 SL{F®} - £0)
7(1) SLLF®} - 570) — £(0)

. (6.7) Laplace

Laplace
Laplace Laplace
5.3 Laplace
Laplace Table5.1
Laplace , Laplace
5.4 Laplace
Laplace [+ f) =t f(0)
3
Laplace

L{f"®) + f()} = L{t}.

sSPL{f(t)} — sf(0) — f/(0) + L{f(t)}
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0,/(0)=2
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